g O A TC & ¢
0 9 HAolty. [TAB =
35°, /ABT = 70°< o, /C
o] 37|=?

®25°  @30° @3 @®w O

(BAT = /BTC = 35°
/TCB + £/CTB = /TCB + 35° = 70°

. LTCB =35°




oS 2HOA zx+ 2y & 2717

@105° @ 110° @ 120°
@ 125° O 135°

B

43t o] o) !
A57ke] 2179}
5 G419 o)zt
/x=180°-75°%x2=30°

oA x4 2y = 105°0]ch.

Ir
N
1
W
N
rr
.
N
1o
=
Jz
=2
5
rr
fo
2
&=

my

FOD R 4y =75°

N
|o
!
frl




3. & IH3 Zo] sABC ¢ Wi 9ol aDEF ¢ 93 ol
(A =65°, «C=170° < o, /DEF 9] 37]&?

D 65° @ 65.5° ® 66° @®)67.5° ® 68.5°

(FBD = 180° — (65° + 70°) = 45°
BF =BD °o|2 =&
. /DEF = /BDF = (180° — 45°) + 2 = 67.5°




D 75 @ 9.5 ® 11.5 @12.5

® 135

B

PAXPB=PEXPF , 3xPB = 4 x (4 +5)

L PB=20_ 12
3

B=12-3=9
%, PC.PD—PE-PF oA gxﬁzu (4+5)

. PD=8
. CD=8-45=235

. AB+CD =9+35=125




.ol o, x 9

@ (1) 13, (2) 2V2 @ (1) 13, (2) 3V2
® (1) 14, (2) 3V2 @ (1) 14, (2) 4V2

(1)8% =2(2 + 2x),64 = 4 + 4x
4x = 60

Sx=15

(2)x% = 2x16,x% = 32
Lx=4vV2( x> 0)




6. TS IHANATT S F L0, 09 12--_ T
SEOR [ o, x o] & A P~

@1 @ 2 ® 3 @)4 ® 5

PT° = PAxPB = PT’° o|22 PT = PT" = 6 o], 36 =
x(x+5) o|B2 x =4 o]t}




o= 1 elA 24 PA,PB += ¥9)

HAHolth, /APB = /x, /QAT =
VR VY

50°, 5.0ptAQ = 5.0ptBQ < w, sx

o 2717

@2° @3°  © 4"

@ 45°

® 50°

~&B

HAA dol o] F= Z+e] F7]
I {HFe] Zof gt g
7|t gong

LQAT = /QBA

AQ = BQ °|2& /QBA =
/BAQ =50°

wabA, /PAB = 180° — 50°
50° = 80° o|c}.

T3 PA = PBO|EE /x =
180° - 80°—80° = 20° ©]t}.




oS a0l ¥ 0 2 A= AB ¢ &
CD o w2 P 2} gttt OB = 6em,
PC = 3cm, PD = 9cm € ¢, PO 9]

dol=?

® lem @ 2cm
® 2v3cm @Z’mm
® 3v3cm

~&B

PA-PB=PC-PD o|E&
PO=x2tslH,PA=6-x
wHbA], (6 — x)(6 4+ x) =3 %9
36-—x2=27, x2=9
“x=3( x>0)




oS A CD = 9 0 9 A&

olty, OP = CP ©]1, AP = 8cm,

BP =6cm € of, ¥ O 9] ¢ 4

SIS,

@ 127cm @ 137cm ® 1l4ncm
@ 15mcm @16ncm

~&B

20 9] W] 20|15 2 2 o}
CP=PO=r B2 r(r+2r) =8x6
37 =48,r*=16 .. r=4
Ht21E 2r =8 (em) (7 r>0)

ufebd 90 € 9Fo] Zolt

27 X 8 = 167 (cm) ©]tt.




10. T 2994 PC o] Zeolg Fahul?

D 23 @ 33 @4«/3
@ 53 ® 6V3

B

PC =PD °o]2&2PC =x2} 5}#
PA=13+11=24
XXx=2x%x24, x>=148

. x=4V3(x>0)




11. o2 J2"HolA A PT 7 0 9 HAlol1r p
PT =16,PB =18 ¢ 1, x2] 3t2?

® 10 @ 12 ® 14

@16 ® 18

PA — 18— x,PT° = PA x PBO||A|
36 = 18 (18 - x)
36 = 324 — 18x, 18x = 288 . x = 16




12. ©he 304 BT = BA xBP 7} A™a o, zx o 27]=9
P

7

Ad
sAv
B T

@® 30° @ 35° ® 40° @ 55° ((@60o

B

BT 7t Al & A, P, T & Av= 99 FHAo|EE /ATB =
LAPT = 45°

APTB 9 A7} &) Al WZte] 2719 §F zx+45° +30° +45° =
180° .. zx = 60°




13. ©hg 23 2o £ 90, 0 ] ZEI]

A4 CD o 353 AB 9] dAfAdo] A B
P oA ghdt}, PA = lem, AB = 4em
91w, CD o] Zo]i? \‘
A
C P D
@ 4cm @ 243cm ® 3+2cm
@2‘/30111 ® 2+vV6em

CP =PAxPB = 5
CP = V5em
~.CD=2CP =2+v5cm




14. ©hz 294 AB-CD 9] 327 P

@ 5 @ 6 ®7

@)s ® 9

S5 ~
3x8=2x (2+AB)

24 =4+2AB

2AB =20..AB=10

3x8=4x (4+ CD)

24 =16 4+ 4CD,8 = 4CD .. CD = 2

~AB-CD=10-2=38




T L™l 9 0/ = 9 0 9 BHF|
OB & A52 & sh= o], AQ
9O’ & A P oA et AZ A

of Zoji=?

o

O

AP  —4x8

AP =42
AAPO’ ©0 AAQB of| A
6:8=4v2:AQ

. 8x4vV2 1642
Q=—"F% =3




16. o2 IHIAA % 92 % d C, D oA Wy, /EFC =
70°, /BAD = 95° & W, zx ©] 37]+&?

@® 20° @)25° ® 30° @ 35° ® 40°

Hz/H CD € 45t WHst= Azt ] A Q&)
/DAB = /DCF = 95° 0|1 tfz}2] ¢ /DEF = 180° — /DCF =
85° o]t}

whah A zx = 180° — 70° — 85° = 25° o]t}




17. ok 297 2ol 9 0 9] & A
P olA] ol e 5 2 4lo] Ut

1 32}, AB = 4cm, CD = 7em,
PB = 6cm, /APD = 60° € o, ¥
0 9] gol=?

@ 21mrcm? @ 21v37cm? 3)317cm?
@ 31V2rcm? ® 417 cm?

~&B

Hof| A <] H& TA | &fsted
PDPC = PA-PB (PC = x)
SIA=R=}

(x+7)xx=10%6

X +7x—60=0
(x+12)(x=5) =0

~ x=5cm = PC

AC, AD & 119W AP = 2PC,
LAPC = 60° ]2 & /ACP = 90° (- E4-2}9]
%, AD 7} 9] Z]Foltt.

AC = V102 - 52 = 5V3(cm) o] &

AACD oA AD” = AC” + CD"

4r = 75+ 49
~r=V3lcm

wrebA], 99 Bol= mr? = 31n(cem?) o[tk




@ CD = 3 o|t}.

@ OAEDB & 9 ¢tell gt}
@) 2CAD # «CBE

@ AB = 99| 250t}

® CExCA =CDxCB

LCAD = /CBE




th-g 2T} o] 259 Zol7} 89l
A 09 WH35H= oABCD ©f Hi5he]
ABE 20|17, AD=CD =29
o, BC 9] Zo]&?

O 4 @ 5 ® 6

@7  ©s
B ‘

(AOG = /ABC, /A =35

. /DGA =90°

AADB O ADGA (0 AA H+5)
DA :GD = AB: DA
2:GD=28:2

- AC=2AG = VT5

~ BC= VAB2-AC2=7




A~
20. oS 12IA 5.0ptAM = 5.0ptBM o]
,T’_,m:(icm,ﬁzmcm%] ‘Iﬂm
o] 2o
D 6v2cm (@)6\/30111
® 7V2cm @ 7V3cm
® 8V2cm

B ~
5.0ptAM = 5.0ptBM |22 /ADM = /BAM
. AM 2 AACD 9] QY] HA
AM = CM x DM = 6 x (6 + 12) = 108
. AM = 6V3cm




